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Answer: C

QUESTION: 106
Which phase invokes the AssemblyLine's Prolog Hooks?

A. Step

B. Ilterate

C. Data Flow
D. Initialization

Answer: D

QUESTION: 107
What information islogged during the first phase of the AssemblyL.ine lifecycle?

A. the number of calls to each Connector

B. all variable declarations during all Hooks

C. the name of each Property Store being used

D. any messages logged using task.logmsg() inside of Global Prolog Hooks

Answer: D

QUESTION: 108
What is the first step of the second phase of an AssemblyL.ine lifecycle?

A. the Initial Work Entry is deleted

B. the On Start of Cycle Hook is initiated

C. all Connectors called during a cycle are initialized

D. the Before Initialize Hook of the first AssemblyLine Component is initiated

Answer: B

QUESTION: 109
Which file is copied to automatically create the solution.properties in the solution directory?

A. tdi.properties
B. java.properties
C. global.properties
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D. solution.properties from the installation directory

Answer: C

QUESTION: 110
Which script snippet changes the value of the property named: foo?

A. TDIProperty.foo="bar'

B. system.setTDIProperty(‘foo’,'bar")

C. main.setGlobalProperty(‘foo’,'bar’)

D. task.setExternal TDIProperty(‘foo’,'bar")

Answer: B

QUESTION: 111
Which script snippet sets the property named skiLift of the alta Property Store to the value
supreme?

A. work.setAttribute("alta","skiLift","supreme");

B. work.setTDIProperty("supreme”,"alta","skiLift");

C. system.setTDIProperty(“alta”,"skiLift","supreme");

D. work.setValue("tdiProperty™,"alta","skiLift","supreme");

Answer: C

QUESTION: 112
Which statement is true about IBM Tivoli Directory Integrator \VV7.1properties?

A. They can be multi-valued.

B. They can be nested with other properties.

C. They can be accessed using the built-in script variable system .

D. They are visible during Attribute Mapping in the Schema window.

Answer: C

QUESTION: 113
Whichstatement is true when starting the IBM Tivoli Directory Integrator V7.1 (TDI) Server
with the ibmdisrv command using the -s C:\myDirectory option setting?
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A. The Solution Directory is set to C:\myDirectory and a full backup of this directory is
performed.

B. The Solution Directory is set to C:\myDirectory and all AssemblyLines at this location
will start sequentially.

C. The Solution Directory is set to C:\myDirectory and all relative file references in TDI will
be relative to this location.

D. The Solution Directory is set to C:\myDirectory and only configuration file and command
line option paths will be relative to this location.

Answer: C

QUESTION: 114
Which command starts the IBM Tivoli Directory Integrator V7.1 Configuration Editor?

A. ibmdice
B. ibmditk
C. ibmdisrv
D. tdisrvctl

Answer: B

QUESTION: 115
What is the default log written by the IBM Tivoli Directory Integrator V7.1 Server?

A. ibmdi.log

B. tdiserver.log

C. ibmlog4j.log

D. <hostname>.log

Answer: A

QUESTION: 116
What is thename of the log file produced when an IBM Tivoli Directory Integrator
installation is upgraded?

A. upgrade.log
B. ibmdiupdate.log
C. updateinstaller.log
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D. fixpack<number>.log

Answer: C

QUESTION: 117
Where are logging strategies for the IBM Tivoli Directory Integrator V7.1 (TDI) Server
defined (<tdi_installdir> = root of the TDI installation)?

A. <tdi_installdir>/etc/jlog.properties

B. <tdi_installdir>/etc/log4j.properties
C. <tdi_installdir>/bin/global.properties
D. <tdi_installdir>/run/logger.properties

Answer: B

QUESTION: 118
Which two Attributes is part of an AssemblyLine error Object? (Choose two.)

A. style
B. status
C. errortype
D. exception
E. connector

Answer: B, D

QUESTION: 119
What does the term Error Hook indicate in anAssemblyLine context?

A. any Hook where an error has occurred

B. a Hook of the AssemblyLine error object

C. a Hook that is called when an error occurs

D. a Hook that is called when the IBM Tivoli Directory Integrator Server fails to start

Answer: C

QUESTION: 120
What are two uses for a Server mode Connector? (Choose two.)
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A. to implement a web service

B. to intercept LDAP bind requests

C. to run AssembyL.ines in Simulation mode

D. to run multiple AssembyL.ines simultaneously

E. to enable First Failure Data Capture in AssemblyLines

Answer: A, B
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